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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
~ THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING

PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE ANSWER SHEET. .

‘8. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT writc anything else on the Test Booklel.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses {(answers). You will select the response which you want to mark on
the Answer Sheet. In case you fecl ihat there is morc than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet.

6. . All items carry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
"Admission Certificate. :

8. After you have completed filling in all your }esbonses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet. :

9.  Sheets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A. CANDIDATE IN THE
. OBJECTIVE TYPE QUESTION PAPERS., '

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third (0-33) of the marks assigned to that question
will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as ‘a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that question.

(iii) I a question is left blank, i.c., no answer is given by the candidate, there will be no penalty for
that question. g
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a b ¢
1. If |/ m n| =2, then what is the value
p q T
6a 3b 15¢
of the determinant 2L m bn|?
2p q 5r
(a), 10
(b) 20
(c) 40
- (d) 60
2. Let X be the set of all graduates in India.
Elements x and y in X are said to be related if
they are graduates of the same university.
Which one of the following statements ‘is
correct 2 .
(a) Relation is symmetric and transitive
only. :
(b} Relation is reflexive and transitive only.
(¢) Relation is reflexive and symmetric
only.
(d) Relation is reflexive, symmetric and
transitive.
8. If x2 4 y2 =1, thén whatis LtX*Y
o 1+x—iy
equal to ?
(a) x-1y
(b) x + 1y
() 2x
(d) -2iy
4, Consider the following statements :
1. For any three vectors a . -1;) . < 3
-
2.4 +T)x(R +Db +2)=0
2.  For any three coplanar unit vectors
) - —) - - —) i
d, e (d x _3’) = 1
Which of thc sLatements given above is/are
correct 7
(a) 1 only
(b) 2 only
(¢) Both1and 2 ‘
(d) Neither 1 nor 2
Q-OEBA-K-NBU

Directions :

For the next.3 (three) questions to

follow : 4

%

{2 -A)

Consider the following lists :

Each_ item under List I is associated with one
or more items under List II.

List I List IT -
(Function) _(M
A, sinx 1. Periodic function
B. cosx 2. Non-periodic function
C. tan x Continuous at every point

.on (- oo, 60}
-4, Discontinuous function

Differentiable | at

every
point on (— o, ) '

6. Not dlfferentlable at every
point on (— oo, c0)

7. hasperiodn

| 8. has period 2
9. increases on (0, n/2)
10. decreases on (0, n/2)
11. increases on (n/2, n)

12. decreases on (n/2, 7)

A is associated with

(@ 1,3,5,8 9 12

() 2 4,86,8, 10,11
() 1,3,5,7 10, 11
(d) None of the above

B is associated with

@) 2 85,8 9,12
®) 1,38,5,8, 10, 12
(¢ 1,3,58,9 12
(d) None of the above

Cis assomated with

(a) 1,4,6,7, 9,11

(by 2,4,6,8,9

© 1,4,6,7,9

(d). None of the above .
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p q T

, 6a 3b 1bc

GRS (20 m 5n| AT FME ?

2r g 5r

(@ 10 |

(b) 20

(¢) 40

d) 60 .

7 AT 5 Ra § A wae & wgeEa X # |
X ¥ W x 3R y wfea o8 o € gkt 9 5@
frvafacg @ wae € | Faafofes & @ o @
BT Fed ® ? _

(@) Gw o Wi AR WS & 1

(b) Y $ad Fged 3R AEmS ¥ |

(¢) Wva Pae waqed IR wmiE @ |

(d) e ¥aqed, Wi sk s # |

o ey?al, AT EY mamamd e

1+x—1iy.
@ x-iy +x '1y,
(b) x+1iy
{e) 2x
(d) -2y
.4 .
. FrafaReg s w® far difse

1 P dmaRel 3,5, ¢ SR
3 .Ub +C)x(@ +b +CN=0
2. &= a1 wwaca ms wfet

-

3.5. 7T Bfe:(d xe). T =1

TRREG s AT TR T e
(a) oad 1

" (b)), Had 2

() 13R 2

d Tdi13RaTA2

(3-A)

B + o 3 () e & B -

Frfofaa gt o faar e : - »

T 19 Ran g3 weds weaer g 11 & o yeAr

a1 eIt geArRl ¥ watd g |

g T I

(%) C

A, sinx 1. 37gdl Ber

B. cos X 2. 3 Ber

C. .tanx 3. (—m,oo)%m%gq!ﬁﬁﬁ ,
4. 3rHAd B
5.

(—o0, ) & UAD (9§ W

e o

6. (—oo, ) & TG fog W
THeI TR

7. 3Ed® 1 aleT &
8. AP 2n aTeT &
‘9. (0, 7/2) W gEHE &
10. (0, 7/2) W TRHHA &
11. (/2, 1) R qefir &
| 12. (n/2, 1) W g9 & -
Afra/fm & wafem & 2

(@ 1,83,5,8,09,12
b) 24,68, 10, 11

© 1,357, 10,11

@ RPRET ¥ o T

- 5 By drami 2

(a) 2,3,5,8,9,12

(b) 1,3, 5,8, 10, 12

(¢ 1,358,912

(@ IuRfifed % & 91 78

C foa/fo & wafea @ 2
(@) 1,4,6,7,9, 11

b 2,4,6,89

(¢ 1,4,6,7,9

(@) zaRfafea A ¥ o8 &




If p and g are positive integers, then which

8.
one of the following equatlons has p - \/E as |
one of its roots ?
(@ x2-2px-(p2-q) =0
) x*-2px+(pl-q=0
© xX+2px-(p2-q)=0
(d x*+2px+@2-q =0

9. Given two squares of sides x and y such that
¥ = X + x2. What is the rate of change of area
of the second square with respect to the area
of the first square ?
(@) 1+ 3x + 2x2
(b) 1+ 2x + 3x2
(¢) 1-2x+ 3x2
(d) 1-2x-3x% - . o P

10. The planes’ px + 2y + 2z -.3 =0 and
2x -~y + 2z + 2 =0 intersect at an angle
n/4. What is the value of p? ?
(a) 24 h
(b) 12
() 6
(dy 3

11. The growth of a quantity N(t) at any
instant t is given by EI% = o N(t). Given
that N(t) = ce¥ t ¢ is a constant. What is
the value .of o ?
(a) c¢
(b) k
{¢) c+k
@ c-k

' 0-OEBA-K-NBU

12,

13.

14.

15.

T

A circle is drawn_ with the two foci of an

2
5 ¥y

—_ 4+ =

ellipse
a? b2

=1 ‘at the end of .the‘
diameter. What is the equation to the circle ?
(@) x?+y?%=a%+0b?

(b) x2'+ y% = a2 — b2

(€ x2+y%=2(a? + b?)

@ x2+ y2 =2(a?-b%)

What is the image of the point (1, 2) on the
lne 3x +4y—-1=0 ? .

If the product of the roots of the equation

-5x + k = is' — 3, then what is the
value of k ? '
(a) 12 '

(b) 15 i
(c) 16
(d> 18

Consider the following statements :
1.  Every function has a primitive.
2. A primitive of a function is unique.

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2 only

(¢} Both1land?2
(d) Neither 1 nor 2
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11.
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2 s

U%,paﬂ?qwioﬁas%”,?hﬁﬁ%?@a
Fiaxolt § 3 Rews vw AW p- Ja 2 2

(@) x*—2px—-(p°—q =0
(b) x2—2px+(p2—q)=0
() x2+2px—-(p2-q)=0

Gl P e Sow w TP g =0

A e x 3R y I A FgwmweR € 5
y=x+x2 @R o & &0 & Rad & ®
UEd @ & SFBT B AN T @ ?

{(a) 1+3x+ 2x%
(b) 1+ 2x + 3x°
(¢) 1-2x+ 3x?

(d)’ 1-2x — 3x2

FHAA px+2y+22-3=0 3R

2X -y +2+2=0 & YTDeE-DT n/4 2 |

pPaE AR R ?

" (a) 24

(b) 12
(¢} 6

d) 3

R & t R FEr NGt @ afs %Etl = a N(©)

grAgse | ok R gan e fe N(t) = cekt, a1 ¢
UE SR e, Mad AT TR ? '

(a) ¢

by k

(¢) c+k
d) c-k
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12,

13.

14,

15.

(6 -A)

x? y2 . ;
é‘rdqaa—2+b—2=1 & 2 TRt B A &

m%@éﬁmgﬁ@mm%lﬁaﬂﬂm

TR ?

(@) x%+y%=a?+b?
(b) }(2+y2=az--b2
(© *x*+y>=2(a%+b?
@ x%+y?=2(@%-1b?

. %msxmy_i:oq?%ga,z)ar%wm%?

(a) (_.z, _E]
5 b

R e k2 - 5x 4+ k = 15 % g @

%A -3¢, A k& T R ?
(a) 12
() 15
(c) 16
d) 18

Frafafea s+ = TR #ifse

1l IRE BeH B P 9 R |

2. ot wom & g e B @ |
IRfEr A A IR TR T e ?
(a) oad 1

(b) HacT 2

(c) 13k 2=t

@ Far13ikad2




16.

(a) 16
(b) 15
0 14
(d) 12
17. What is the number of three-digit odd |
numbers formed by using the digits 1, 2, 3, 4,
5, 6 if repetition of digits is allowed ?
(a) 60
(b) 108
(o) 120
(dy 216
5 6 1
18. Let A = . Let there exist a
2 -1 5
35 49
matrix B such that AB = 1. What is
29 13
B equal to ?
5 1 4
(a)
2 6 3)
2 6 3
(b) :
5 1 4)
5
(c) 1
4 3
(2 5)
d |6
3 4
Q-OEBA-K-NBU

If A={a,b,c,d), then what is the number of

proper subsets of A ?

19,

200

21.

22,

(6 - A)

’

Consider the following statements :

1. The probability that there are 53 Sundays
in a leap year is twice the probability that
there are 53 Sundays in a non-leap year.

2. The probability that there are 5 Mondays
in the month of March is thrice the
probability that there are 5 Mondays in the
month of April.

Which of the staltements given above is/are
correct ?

(a) 1 only

(b) 2 only

{¢) Both1land?2
(d) Neither 1 nor 2

Consider the following statements :
L-If A’ = A, then A is a singular matrix,
where A’ is the transpose of A.

2. If A is a square matrix such that A% = I,
then A is non-singular. '

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

If 'P times the p'" term of an AP is q times
the g™ term, thén what is the (p +

" term equal to ?

(@ p+q
b pq
© 1
d o

A team of 8 players is to be chosen from a
group of 12 players. Out of the eight players
one is to be elected as captain and another as
vice-captain. In how many ways can this be
done ?7

(a) 27720
(b) 13860
(c) 6930

(d) 495
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’
. & LY

. 16‘

17'

18.
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A A=fab,c dl, &A% A sTETed @

T g ?
(a) 16

. (b) 15

(c) 14

@ 12

= Fidt aren o S=w 3T 1, 2, 3, 4, 5, 6 BT .

39 B o WS E | afE sidt & gewa Wi
2 a0 gt fea € 2

(a) 60
(b) 108
(¢) 120

(d) 216

6

mﬁﬁe%i&:[z ;]mma'ﬁm

o 35 49\
%wmanW%%Ag:(Qg 13],3#

B @ & .7

(c) 1 6

(2 5
@ 6

190

20‘

21.

22,

{7 =4A)

Frefied seAl W fraR @i :
1. 58 g ad # 53 FarR B o wfawar fo=dt

IR-eiy @ ¥ 53 AR B & miiwar & g
21 :

- 2. il wEM T 5 WER B & wiiiear st wee

# 5 Wmar @ o1 sfawar ¥ e & |
saRfeRad # ¥ o w ouT wd & »
(a) ‘?ﬁ?fl
(b) A 2
(¢ 13K 22+
(d A 13ARFTE2

frrafaRea FoEl ) R Hifse -

1. gk A=A @ A TS gl AR 8,
el A’ % A @ oRad |

9. A ADE iy UBR & 6 A% =1,
ar A gapaoia # |

JoRfeafad &9 o e oue wdt &8 ?

(a) ®ad 1

(b) &ad 2

(© 13k 2=

(d dar13ikaTd2

afe fee =R Ao & pd UE &1 p T IS qd
9% & q T &, A (p + o)l ue frads sk @ 2
(a) p+q

(b) pq

© 1

(d)

12 Rl % R g @ 8 Reend @ v

& TN S ® | 37 ome Raenfsdl A ¥ v B
FEH 3R TR P -FAT A T |

e wor W foar s 9T & 2

(a) 27720
(b} 13860
(c) 6930
(d) 495




23.

24,

In tossing three coins at a time, what is the
probability of getting at most one head ?

(a) g
OIS
(c) %
@

What is the sum of-the coefﬁments of all the
terms in the expansion of (45x — 49)* ?

- (a) -256

25.

26.

Q-OEBA-K-NBU

(c)

(b) . -100
(c) 100
(d) 256

Two balls are selected from a box | containing
2 blue and 7 red balls. What is the probability
that at least one ball is blue ?

2
(a) 5
7
(b) a
5
12
. 7 .
(d) 5

If the equation x> - bx + 1 = 0 does not

possess real roots, then which one of the |

following is correct ?

(a) —3<b<3
(b) —=2<b<2
() b>2

d b<-2

hitps://ww,

27.

28.

29.

30.

{ 8= A )

_ (c)

The probability of guessing a correct answerds ~

1x_2' If the probability of not guessing the
. . = 2 .
correct answer is 37 then what is x equal to ?

(a)
(b)

S B~ W M

(d)

If the system of equations 2x + 3y = 7 and
2ax + (@ + b)y = 28 has infinitely many

solutions, then which one of the following is

correct ?

(a) a=2b
b b= 2a
(¢) a=-2b
(dd b=+2a

If p and q are the roots of the equation
le—- px + q = 0, then what aré the values
of p and q respectively ?

(a) 1,0
() 0,1
(0 -2,0
@ -2, 1

Consider the following statements related to a
variable X having a bmomlal distribution

by(n, p) :

1. If p= —%, then the distribution is

symmetrical.

2. p remaining constant, P(X = r) increases
as n increases.

Which of the statements glven above is/are
correct ?

(a) 1 only

(b) 2only °

(c) Both 1 and 2
(d) Neither 1 nor 2




- 23,

24.

25.

- 26.
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» (a)

'wmﬁmmmamﬂﬁmw

o w1t | o wiftrdsar oan @ ?

(b)

(c)

wi= N~ |~ ciw

(d)

(45x — 49)* %ﬁ?ﬁﬂﬁmﬁqa‘résgwm%rm
GG T P

(a) —256

(b) -100

(¢) 100

(d) 256 |

o g 3 2 A 3R 7 o ¥ R Y i)
g I # | e miydar & 6 SH-9-aW ve
g el @ 2

2
(a) 5
7
(b) 5
5
(e E
7
(d) T
o T, k2 ~bx + 1 =0 $ TGRS T

7é &, @ Feffea f A s w w@ & 2

{a) —-3<b<«3

by —Zebed
© b>2

@ b<-2

27.

28.

29.

30.

{9 -A)

(d) b=

e T TR 5 A 3 A Ll o

FE IR B A = B B Wil % g A x@

H T e ?

(a)
(b)
(c)
(d)

o SR - B =

- afg Hﬁhaa‘{mﬁam 2x‘+3'y=7 qar

2ax+(a+b)y=28 % o ' € @
FeftfRecdda s a2 ?

(a) a=2b

() b=2a

(¢) a=-2b

-—2a

i FAEReT k2 —px+q=0 S p 3R &, A
p 3R q & AF BT T & ?

(a) 1,0

®) 0,1

© -2,0

(d) -2, 1

ffe @& byn, p) @ W X I waheud
FrafaRea s R IR @i -

1. ﬁp:l,ﬁaﬁmﬁm%’l

2. pIWE, ﬁP(X_r)Hﬁmqﬁmnaﬁﬂﬁ
= -3 I

SoRffed wert 3 & S WA TR

(a) e 1

(b) waw 2

(¢) 13Kk 22

@ Fa@13iRIT2




31.

32.

33.

34,
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What is the number of ways of arranging
the letters of the word ‘BANANA’ so that
no two N’s appear together ?

(a) 40
(b) 860
(c) 80
(d) 100

Consider the equation (x = p) (x - 6) + 1 =0
having integral coefficierits. If the equation
has integral roots, then what values can’p

- have 7

(a) 4or8
(b) 5 or 10
(c) 6orl2
(d 3or6

What is the equivalent binary number of
the decimal number 13:625 ?

(a) 1161_-111
(b) 1111-101
(¢) -1101-101
(d) 1111111

What is the value of

i+\/§ 200 i‘—\/g 200
(_ih@} ¥ [*’:"re:) v 17

(@ -1
b ©
e 1

d 2 .

hitps://ww,

35.

36.

37.

38.

{ 100~ A}

The order of a set A is 3 and that of a set

B is 2. What is the number of relations
from A to B ?

(@) 4

(b) 6

(c) 32

(d) 64

What is the value of %‘/:—((I:I—)) ?

(a) logaﬁ (o)
(b) log,,, (af)
() log,, (aPy)

() log,y (B)

The 59" term of an AP is 449 and the
449" term is 59 Which term is equal to
0 (zero) 2

(a) 501% term

(b) 502" term

(© 508 term

(d) 509 term

For a set A3 coﬁsid.er the following statements :
1. A UPQA)=PA)

2. {Al N PA) =
3. P(A) - Al = P(A)

" where P denotes power set.

Which of the statcmcnts given abovc is/are
correct ?

(a) lonly -
(b) 2 only

© 3only

(d). 1,2 and 3.




31, = BANANA & 3erl @) 5% woR SfE & (35, wea Am WR-ET 3 3Rk v WeEd B @
' as%as‘aﬁNeamaanU masd? | 2% A% B oo el & A @ ?
(a) 40 | i . ) 4 ‘
(b) 60 | (b 6
5 85 N () 32
). 160 | 0 =

‘ ' ' 1 H

32. WWH’I@TW (x-p)(x-6)+1=0lg6 Ogsfa_l‘»( )
wﬁaﬂﬁmmﬁﬁmmésgaqoﬁm% @ p -logm(H)
&1 71§41 8 FHA ¢ P

&1 HE TR P

_ _ (a) - logaﬁ (o)
(a) 43@s8 |

« . } (b) logaﬁy (af)

b) 5 3@ 10 .

& (c) .]ogmB (aPy)

- ‘

(c) 31ar 12 @ logyy ()

(d) 3 a6
, 37. ﬁﬁﬂwﬁuﬁmswqacm%sﬂvmmqa .

59 % | a?hwqaomﬁx)% ?
33. . quEE WA 13-625 @ Wed f-anORy e

T ? (a) - 501df U@
(a) 1101-111 o (b) 502d7 98
(b) 1111-101 A (¢) 508dl Ug
(¢ 1101:101 o (d) 5093 T&

(d) - 1111111 38. o wqe A foe, Prafefed owl ) RER

: : : . i :
34 . =0 e . | 1. AUPQA) = PQA)
' .(ﬁi+1[§} ¥ [1+J§J * 1 2. {AINPA) =
’ ' 3. P(A) - Al = PA)
& o e P
. ampmm%maﬂgaul
(@ -1 - ' mﬁ%ﬁaamﬁﬁ%ﬂawﬁﬁ%%’
) 0 - (a) dad 1 _
; (b) aeT 2 )
i .
© | (c) &acT 3
@ 2 @ 1,23R3

Q-OEBA-K-NBU (11 - A)




39,

40.

41,

42,
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12 respectively, then what is their GM equal
to 7 .

(a)" 12

(b) 18

() 24
(d) 27

? 1 1 ' ;

If tan A= 5 and tan B = 5 then what is
the value of (A + B) 7 '

(a) O

b =

(b) 1
, m

(c) 5 .

d =
If (4, 0) and (- 4, 0) are the foci of an ellipse
and the semi-minor axis is 3, then the ellipse
passes: through which one of the following
points ?

(a) (2,0)

(b) (0, 5)

{e) (0, 0)

(d) (5, 0)

_ Under what condition do the planes
bx ~ay =n, cy—bz=1I az-—ex=m
intersect in a line -? '

(a) a+b+c=0
(b) a=b=c¢

(¢) al+bm+cn=0
(d) l+m +n=90

If the AM and HM of two numbers are 27 and

{12 -

What is the maximum point on the curve

43.
x =¢ey ?
(a). (1,e)
(b) (1, e
(e (e, D
. rd
@
44. The function f(x) = ¥, x E_R is
(a) Onto but not one-one
(b)  One-one onto
(¢) Oné-one but not ohto
(d) Neither one-one nor onto
: o] A% dy
45. If y =sin 5 | then what is — equal
_1+4x
.to ?
() ——
1+4x
1
by - )
1+4x
. 4
(c
) 1+ 4x2
‘4
@ ——
1+4x
A
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- 39,

40,

41,

42,

Q-OEBA-K-NBU

u%ﬁﬁwsﬁasmmmaﬁzmmw

gmer: 27 3k 12 &, A 39e iR e a1 § ?
@ 12 | |

(b) 18

(c) 24

(d) 27

afe tanA:% .3ﬁ‘\'_tar_1B= %, @ (A + B)
& A TR ?
(a 0

(b)

w A

(c)

oA

(dy =

aft bd dfgm & TRET (4, 0) T (-4, 0) #
IR anfog e 3 2, @ Fofoea foegat & @
ey S eRar ? ?

(a) (2,0
(b) (0,5
© (0,0
d (5,0

%Hﬂﬁﬁéismﬁqaﬁbx—ay n, cy— bz—l

az—-cx=m U® @ H e & ?
(@) a+b+c=0

) a=b=c

(¢) al+bm+cen=0

(d) lv+m+'n=0

43.

44,

45.

(a)
(b)
(c)

(d)

B flx) = e,

(a)

(b)

(c)

(d)

g 'y = sin‘l(

(a)

(b)

(e}

(D

x = ety & TS Reg w8 ?

1, e)
, e
(e, 1)

e, 1)

xe R

3IBESD & R Tha) A8

TP HroED ¥

v 2 g STeoS T

T A b 2 3R T & mes

1+ 4x2

4x

1+4x2

1+ 4x2

1+ 4x2

4x

o 1+4x%?

dy -
J, ?hdx FI A TTE :




' 46, What is the value of ). for which the vectors |50. What is the derivative of

A A A A A A A, A A :
i-J+Xk, 2145k, a1 -1 +2k x-aZ_x2+a2sin—1[5)?
are coplanar ? =
, (.a) L {a) a? - x?
(b) 2 :
(b) 2ya® —x2
c) 3 :
. ‘ : 2_ .2 i
(d) 4 : (¢c) X a
d) 2yx%-a%
47. What is the equation of the plane through
z-axis and parallel to the line
x-1 y+2 2z2-3 o ' 51. If (-5, 4) divides the line segment between

cos® sin® 0 - the coordinate axes in the ratio 1 : 2, then

: what is its equation ?
(a) xcot®+y=0

(b) xtanB -y =0 0 | (@) 8x+5y+20=0
() x+ycot8=0 (b) 5x+8y-7=0
‘{d) x-ytan9=0 : : {c) 8 -5y+60=0
48. Ifthelines 3y +4x =1, y=x+5 and| (@ Bx-8y+57=0
S5y + bx = 3 are concurrent, then what is |
the value of b ? 52. What is the value of
(a) 1 cos 15°  sin 15° cos 45°  cos 15°
. X1 3
(b) 3 cos 45° sin45°| |sin45°  sin 15°
(e) 6 i
(a) =
(dy © 4
49.  What is the least value of ) ‘g- '
fx) = 2x3 - 3x2 - 12x + 1 on [-2, 2:5] ? ‘
(a) -3 1 ]
b 8 & =g
) () -19 .
(d -165 @ - 3
- 4

Q-OEBA-K-NBU {14 - A}
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46.

47.

48,

49.

Q-OEBA-K-NBU

(@) xcotB+y=0

(c] X+ycot8=0

A oA 160,
-J + k,

A &1 WF o & P fe wRw i
A A A A A A . '
21 +j —k, Ai—] +Ak THaANT & ? .
(a) 1 '
(b) 2
(c) 3

(d 4

x-1_y+2 2-3 & e gk
cos & sin © 0

z-maﬁwwﬂwmﬂﬁmm%? 51.

(b) xtanB -y =0

(d) x—~ytan8 =20

gfe I@mw 8y + 4x =1, y%x+5 3R
5y +bx =3I & A b@ AN TR ?

(a) 1
52.
(b) 3
{¢c) 6

(d 0

[-2, 25] W fix)=2x3 —-3x2 - 12x + 1 &
ATH A I E ? '

(d) -165

(15 - A}

hitps://ww,

xya? - x? + a2 gin™? [i) BT THAS T S ?
a

{¢) x2 - a2
@) 2+x2-a?

afe Frdemelt & 99 & @S B (- 5, 4), IFUE
1:2 1 fvfog a=xan &, @) 9o <leRuT &
g2 -

(a) 8x+5y+20=0

(b) bx+8y-T=0"

() 8x-5y+60=0

(d) 5x-8y+57=0

cos15°  sin15° cos 45° cos18°
. X
cos 45°  sin 45° sin 45°_ sin 15°
oo w8 ?
1
(a) Z
J3
b ol
(b) 5
1
—-— — »
(c). 1
3
> b R
(d) i

-




53.

Out of 32 persons, 30 invest in National
Savings Certificates and 17 invest in shares.
What is the number of persons who invest in
both ?
(a) 13
(by 15
() 17
(d) 19
54. What are the equations of the directrices of
the ellipse 25x2 + 16y% = 400 ?
(a) 3x+25=0
(b) 3y+25=0
() x+156=0
(d) y+x25=0
55. Let A be an n x n matrix. If
det (AA) = A% det (A), what. is the value of
s ? '
(@ 0
(b) 1
(¢} -1
(d) n
x2 2
56. Let E be. the ellipse 5 + yT =1 and C be
| the circle x®2+y?=9. Let P= (1, 2) and
Q = (2, 1). Which one of the following is.
correct ? : .
(a) Q lies inside C but outside E
(b) Q lies outside both C and E
(c) P lies inside both C and E-
(d) P lies inside C but outside E
Q-OEBA-K-NBU

57.

58.

59.

60.

{16 - A)

What is the geometﬁc interpretation of:the
¥ 2 - b d - o ~y
identity (a ~ b)x(a + b)=2(a xb)?

1. If the diagonals of a given parallelogram
are used as sides of a’ second
parallelogram, then the area of the
second parallelogram is twice that of the
given parallelogram,

2. If the semi-diagonals of a given
parallelogram are used as sides of a
second parallelogram, then the area:of

" the secon_d~par.allelogram is half that of
the given parallelogram.

Select the correct, answer usmg the code given
below :

(a)
(b) 2 only
{¢) Both 1‘ and 2

1 only

(d) Neither 1 nor 2
’ /2 "
What is J' T dx ?,
sin® ¥ + cos® x
0

(a) =

T
b 2
(b) 5

1o
© g
d 0
| The function flx) = 2x from Rto R is

x“+1

(a) One-one as well as onto
(b) Onto but not one-one
(c) Neither one-one nor onto
{dy One-one but not onto"

If A be'a real skew-symmetric matrix of order
n such that A® + I.= 0, I being the identity
matrix of the same order as that of A, then
what is the order of A ? :
(a) 3.

(b 0Odd

_(c) Prime number

(d)

Even

hitps://ww,




- 54,

. 32 aRedl # ¥ 30 B & S UL T ARG

T P o £ ot 17 00 o 9 A 1 2
e &t < T & S 2R i P ad § 2
(a) 13 ' -
(b) 15
(> 17
@ 19
Jdga 25x% + 16y2'=400'a’5’rﬁaa13ﬁ%5
HFRHOT T & ?
(a)'éxi25=0 ¥
(b) 8y+25=0
(B ®+15=0
(d y+25=0
65. WF NP, ABE nxn MGG T | AR
det (AA) = A5 det (), & s T A FT & ?
(a) 0O
(b) 1
G -F - °
(D n
56. mqa"r%mE%é’r@ﬂ§+y—42~=iaﬂTC%
W x2+y2=9 wWAGRE P=(1,2 3R
Q=21 Frffed ¥ & o w w2 2
(2) Q2B C & MR foog E & TR
() Q# C3RE A F o
{c) ‘P%‘Cﬁhﬁ}aﬁa‘i‘%ﬁm
(d) PRCH MR g Ed TR
Q-OEBA-K-NBU

517.

58. -

59.

60.

Tl (a —g)x(g +B’)'=2(3 xﬁ)
& Sy aedd @ ?

1 o e e e R o % Rt )

TR IR T B Yol & wa A
fdsar STe, 1 GAR AR TS BT QA
T FHIR TS B AABe Bf G 81 |

2. g foit e 1o wmmR agys & ard-fasoll @
PH R AR TGS B YN & T H 5gh
faar Sme, df TR TR TS & ek e
e AR TSt & A BT e & |

9 e me HT & v &R /E TR g

(a) a1

(b) et 2

C(e) 13k 22

(d FD13RaID2

n/2

J' sin® x _
" sin® x + cos® x

0

dx #rg?

(a)

el

()

NN CIE

(c)
(d) 0

R R % Bee fix) =

%2 41

(a) UHP TAT FEBRES &

(b) 3BTRS ¥ fbg Tha "8l

(c) 1 ubd & 3k 7 & sreERs
(d) uhD & o s T8

g A B DT n T aRAGS [A9HT-JUHI HTGE
PR € 6 A2 + 1 = 0, 5T I 0 R &
s AR & T B &1 A, @1 AD B T
g7 ' .

(a) 3

(b) fawm

(c) YT |&=

(d) - 9% -

{17 - A}




Directions : For the next 3 (three) questions to |64. What is the sum of all natural numbers

follow : , between 200 and 400 which are divisible by
The table below gives an incomplete fréquency 7 '
‘ distributioq with two missing frequencies f, (a) 6729
and f,. :
- ‘ . (b) 8712
Value of X | Frequency | (c). 8729 -
0 _ [ . ' (dy 9276
-1 f, 65. ‘The mean and variance of a binomial
(distribution are 8 and 4 respectively. What is
- 4 P(X = 1) equal to ? ’
3 4 . 1 . ‘
.4 . 3 2
. The total frequency is 18 and the arithmetic (b) 28
_ mean of X is 2. -
. ] A - 1
61. "What is the value of fy ? (o). Eg-
(a). 4 s & | .
®). 3 - : @ L
ORI | | z
@1 | "

' : o 166.  What is f e X gin x dx equal to ?
- 62. What is the standard deviation ? ' ] . .
‘ a (a) e**(sinx—cosx)+c

5 "
(a) . ‘/—2—— (b) (sinx-xcosx)+c
(¢) (xsinx+cosx)+c .
(b) ) (d) (sinx + X cos X) + ¢
. 4 ‘ where ¢ is a constant of integration..
(€ = ‘ , | ,
3 , 67. An observed event B can occur after one of
T _1.9 ' the three events A, A, Ag If .
9 P(A) = P(Ay) = 04, P(A) = 02 -and
63. Wbat is the coefficient of variance ? ] ' " PB | A) =025 P(B | Aé) = 6;4, ' _
(a) @9 P(B | A3) = (-125, what is the probability of
‘ A, after observing B ?
. (b) 5—09- ‘ (a). 1/3
e | (b) 6/19
: " (©) 600 . .
: I ) () 20/57

(d) 150 ‘ . @ 2/5

Q-OEBA-K-NBU _ _ {18 - A}
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. ’
.

e e 3 () g S R

61.

62.

63.

Q-OEBA-K-NBU

0 B R F 0w ol aRaRar de fear @ e

2 IRERAN f, 3R f, s &
X &1 AaH TRART
0 £
1 fy
2 | 4
3 4
4 3

o aRaRar 18 8 3R X & @ik Wem 2 2 |

f, & A9 T & ?

(a) 4

(b) 3

(¢) 2

(d) 1

ee e wmrg 2 -
5

(a) 7

(b) ry

© %
16

@ 3

YRR 0T T & P
200

(a) T
5075

(b) 3
600

@) ==
J5

(d) 150

hitps://ww,

' 640

65.

66,

67,

(19 - A}

r

200 3R 400 & &= & 7 F sy TN gy
(Tepferas) el 1 AT @/ | ?

(a)
(b) -
(c)
(d)-

6729
8712
8729
9276

Y Roue de & A 3k v muern 8ok 48 |
PX=1)F A FNE?

(a)

(b)

(c})

(d)

1
o2

o |3 (&) N
A S

jel’”‘sinxdx DI AT TR ?

(a)
(b)
(c)
(d)

el X (gin x — cos X) + ¢
(sinx-xcosx)+ ¢
(x sin X +cos X) + ¢

(sin X 4+ X €OS X)'+ C

TRl ¢ U FHHAT-IR B |

a9 weAnl Ay, A, A; ¥ TR s m
e B ¥ "ol © | Ik PA;) = PA,) = 04,
P(A,) = 02 @1 P(B|A)) =025,

P(B|Ay) = 04, P(B|A,) = 0-125, a1 B & Hefol

& 9 A, D WiAHar ®1E P

(a)
(b)
(c)

@

1/3 ' ‘
6/19

20/57

2/5

’




1

4
68. Whatis J.Ixz b dx equal to ?
_ x“+1
3
(a) §3-—-x+4tan_l-x+c
3 1
" (by ?+x+4tan'x+c
X3 ey |
(¢) —§~—x+2tan"x+c
X3 ) ‘ 1
(d) ?—xf4tan“x+c
where ¢ is a constant of integration.
- x+4
69. What is the value of lim . ?
. - X2 \X+1 _' ’
(a) e
b) e?
) et
d) &8
70. What is the area of the triangle with vertices
0, 2,2), (2,0,-1) and (3, 4, 0)?
(a) 15/2 square units
(b} 15 square units
(¢) 17/2 square units
(d) 7 square units
71. If L is one of the roots of
) [ S - ,
ax? + bx + ¢ = 0 where a, b, ¢ are real, then
‘what are the values of a, b, ¢ respectively ?
(P 6, -4 1.
(b) 4,.6, -1
© 3, -2, 1
(d) 6, 4, 1
Q-0OEBA-K-NBU

72,

730

74.

75.

I -
2

is a complex cube root of unity and’
X = 0° — ® — 2, then what is the value of
X% + dx + 77

Gy —~2
(b) -1
(e} O
@ 1
If cos x # =1, then what is _Smx
_ 1+cosx
equal to ?
X
—cot =
(a) co 2
X
b t —
(b) co 2

(c) tap 2

(d)

X
—tan.—
2

The angle of elevation of the tip of a flag post
from a point 5 m away from its base is 75°
What is the approximate height of the.flag

post ? : L
(a) 15m

(b) | 17 m

© 19m

(d 21m

If A = P({1, 2) where P denotes the

. power set, then which one of the following

(20 - A)

is correct 7°

(a) 1,2 cA
B leA
© ggA
@ (L2 eA

hitps://ww,




x LIRY 4 §
68. JXQH dx BEATIE? |72, o R @1 v wiE T o ® SR ,
- x"+1 ‘ X=02—-0-28 @ x2+4x+7 HTUA I
' x3, i ' %? ) '
B .
(a) —3———x+4tgn X+c (@) -2
<3 ' : . by -1
(b} ——-+x+4tan_1x+c ,
' 3 o _ ) ©
3 ; dy 1
(c) %—x+2tan'_1x+c s ' '
i ‘ | |73, of€ cosx 2 -1, @ 1smx W‘TF{W%?
(d) ﬂ-x—--—)g—4t;a'n_1x+c : ;oS
3 : 4
o : (a) —cot —
1@l ¢ Uh FHEH-3RR § | 2
" (b) cot'g-
. .
- 69, - lim [“6] PLAA TR ? - _
: X = oo x+1 (c) tana 3
a e (d) -tan =
by &2 2
() et . . ' : ;
T 74. {5 ea51-2vs & BR @ IF9F DU IS AR Y

. | 5m gl Wue fag & 75° 871 e@sans @
70, @nf (0,2,2), 2,0,-1) dR@, 4, 0T YT  omm I wd 2 B

o1 &G AT & P

“ & s (a) 15 m
() 15/2 @1 518 ) .

. 17

b 15 af o7 | > 17 m
(© 7/2 @t gord i daam
@ 7eigE | ¥ ks

. uﬁ:ax%bxm:o &1 T® gl 2“\/3%75, aft A = P((1, 2) 5 P 9 ¥ @ aifed

o s - F<al 2, & Frefelaa & 9§ ot w v & ?
_aﬁa,b,caﬁﬁ@%,iﬁ,a,b,c%mmﬁ ,

e ? @ (L,2CA
(a) .6, -4, 1 B ‘ b) 1eA
.4 6 B () opeA

) 3, —-2; 1

. 6, 4, 1 @ {L,2eA

0-OEBA-K-NBU - . S 2 =AYb
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76.

77.

- 78.

.79,

Q-QEBA-K-NBU

. The geometric mean of three numbers was

80.
computed as 6. It was subsequently found
that, in this computation, a number 8 was
wrongly read  as 12. What is the correct
geometric mean ? ~
(a) 4.

() 35
(¢ 2318
(d) None of the above
1 2 '  © g H
Let A= =[a.], wherei, j=1,2 If| -
3 4 Y . 81.
its inverse matrix is [bij]; what is by, ?
(a) -2
(b)" 1
. 3
(c) E
1
d s
(d) T2
. — 82.
The angle A lies in the third quadrant and it
satisfies the equation 4 (sin? x + cos x) = 1.
What is the measure of the angle A ?
‘ ¢
(a) 225° '
(b)) 240°
(¢c) 210°-
(d) None of the above
| ~lss.
What is the area enclosed between the curves
y? = 12x and the lines x =0 and y =6 ?
(a) 2 square units
(b} 4 square units
(¢ é_squaré units
(d) 8 square units

.(22—A}

In a triangle ABC, BC = 439, AC = 5'and

AB = 7. What is the measure of the angle
AR o
¥i3
(a) Z
by = )
(b) =
T
(C)__ E
n
o 2
(d) 6
What is the modulus of ﬁm—z ?
. 1-(1-1)
(a) 1 '
b)- V5
© 3
@ 5

/.

If the line through the points A (k, 1, —1) and
B (2k, 0, 2) is perpendicular to the line
through the points B and C (2 + 2k, k, 1), then"
what is the value of k ?

(a) -1
(b) 1
() -3
@ 3

Whatis'[ 1 - dx equal to ?
1+e*

@ x-Inx+c

(b) x—In (tanx) + ¢
(c) x-ln(1+e")+lc

(d) ln (1+eX+c

where ¢ is a constant of integration.
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76.

.

78.

79.

_ Q-OEBA-K-NBU

o)

?’hﬂmawﬁmmﬁuﬁmﬁmmimﬁw

R 3w dom o v el 8 @ e ¥ 12 1%
forar TN o7 | R IR HIeA a4 8 P

(a) 4
(b) 35
() 9318

(@) suRfefaa § & o5 78
1 2 .. .
W%\?'A=[ }:[aij],EI%Ti,j=1,2
3 4

z
g2

uﬁmwm[bis]%,?ﬁbzzw

(@) -2

(b) .

Y

(@) -

=R

S A AR ugelw ¥ ¥ sk TE whewm

A® T R®TE P

(a) 225°

(b) 240°

(©) 210°

(@) ToRRfREw & B 7@

y? = 12x AR @it x =0 ﬂ2lT y-633

-@HWWW%?

(a) 2 o
(b) 4T ZHE
¢ 6 g

(d) 8ah 5@

hitps://ww,

80.

81.

83.

(23 - A}

4 (sin? x+cosx)—1aﬁ¥iﬂt‘€m'§laﬁﬁl,82'

f?m-‘hﬁga ABC #, BC= 39,
AB=7% | ®0T AP T 2 ?

AC =5 3R

(a)_‘%

o, %

© 5

@ g

1__1(.}% 1 G T ?

@ 1

B Jga'_

() J3

(d 5

af% famgalt A (k, 1, -1) 3R B (2k, 0,2) & el

X s B At € (2 + 2k, k, 1) & da @ 1

R @ &, drk ®f O @ @ ?
faj 1

b 1

(¢) -3

(@ 3

e
1+e*

{(a) x-Inx+¢

dx @ AF FE ?

(b) x-In{tanx) +c¢
€ x-In(+e"+c
@ ImQ+e+c

et ¢ U HHIEH-3R T |




84. The function f{x) = x cosec x is
(a) continuous for all values of x
(b) discontinuous everywhere
() continuous for all x except at x = nn,
where n is an integer
(d) . continuous for all x except at x = nx/2,
where n is an integer
85. What is the solution of the differential
.. . dy dy
equat — + 2y | = = 9
quation a(xdx yj Xy
¥
(a) x?= kye?
P
(b) yx® = kye®
‘ . ¥?
(@ y*x%= kye?
(d) | None of the above
" where k is a constant.
_)
86. A vector b is collinear with the vector
2 = (2, 1, -1) and satisfies the condition |.
a - b =3 What is b equal to ?
(a) (1, 1/2, -1/2)
(b) (2/3,1/3, -1/3)
() (1/2, 1/4, -1/4)
(d (1, 1,0
87. What is the least positive integer n for which
. \n
1+1 =19
1-i
C(a) 16
b 12 - ‘ -
() 8
(d) 4
Q-OEBA-K-NBU

‘.

88.

89.

90.

{24 - A)

A A A -

> A : < T
The vectors a =xi + yj +zk, b = k

© are such that they form a right-handed

- system. What is ¢ equal to ?

A

(a)
? £ A
by ¥y —-xk
Ao
(€ yi — xj
I'\ A
(d) xi - yj
2
If x=t2 y =t3, then what is d—); equal
to? ' dx
(a) 1
3
K) <
(b) 7t
3
(c) E
3
(d) =
-
4
What is J tan® x dx equal to ?
-
4
(a) 3
1
b) =
(b) 3
1
(c) 3
(d 0

hitps://ww,




84,

85.

86.

87.

Q-OEBA-K-NBU

(a)

Bed flx) = x cosec X ‘

(@ x& 90 791 & o Haa & -

(b) w7 A @ :

(c) xﬂimﬁﬂﬁﬁi%vﬂlaﬁ%ﬁﬁxznnai
foe =d, ST nvw s &

@ x & ah wH & e dad @ f&g x = nn/2

- ¥ foe 74, 5@t n oE s @

-w¥ @ em

d
e e, )
axdx+y ™

T ?

2

x% = kyeg

y
yx® = kye?

(b}

y2

(© yi%= kyeT

@ TRRRE § Y o 78
el k P18 SRR & |

¢ wke b et wfw @ = (2, 1, -n @ R
gakufmy @ - b =3B FgE RTLE ! b
DI A RN E ? :

(a)
(b)
(c)
(d)

1, 1/2, —1/2)
(2/3, 1/3, -1/3)
(1/2, 1/4, —1/4)
(1, 1, 0) |

G“) =1 % e = e e n @

L |

g2
(a) 16

- (b) 12

(¢ 8
(d)

hitps://ww,

88.

89.

90.

{25 - A ) -

Hﬁ«'ﬂ?:x?-{-y} +z’ic, "1;=’1\<, e
oS Fem TR E I ¢c sIaH g ?

{25

(a) ;

(b) y_’i\ -xli(
(c) y'i\—xj\
@ xi-yj

ok x=t2, y=t3, @ —L mmuFwnd?

(a) 1

(b)
(c)

3
(d) s

tan®xdx BDIAFT TS ?

‘“[I:‘—‘l-hln

(a) 'J3
1
(b) s
(0 % ;
(d) 0




91.

92,

93.

94,

Q-OEBA-K-NBU

(a) 6
(b) 12
(c) 15
"(d) More than 15

where c is a constant of integration.

Let
and

0@, 0, 0, P(3, 4 5), Q(m, n, r)
R(1, 1, 1) " be the vertices of a
parallelogram taken in order. What is the
value of m + n +r ? '

What is the solution of the differential |

equation 3e* tan y dx + (1 + e¥) sec? ydy = 0 ?

(a) Q1+eftany=c

b) 1+e®tany=c
) 1+eXtany=c
(d (1+e¥se?y=c

What is the locus of points, the difference of
whose distances from two points being
constant ?

(a) Pair of straight lines

(b) An ellipse
(¢} A hyperbola
(d) A parabola

What is the differential equation for
y2=4a(x—a)?

(@ yy -2xyy +y%=0
b)) yy (yy +2x) +y%2=0
© yyyy-2x)+y2=0

(d) yy-2xyy +y=0

95.

96.

97.

{26 - A)

" If the angle between the vectors 2 and H

is %, what is the aﬁgle between —5_3’ and

ol
6b 7 -
ka) =z
-6
® 2=
3
@ 2
-5
Gy 2F

7 .

What is the degree of the differential equation

2 3
L. .. 1+(£1l)=0?
ax

dx?
(a) 1
(b) 2
{0 3
(d) 6

3 3

If szlnxdx=x—lnx+x—:+c, then
m ) n

what are the values of m and n respectively ?

(a) 1/3, -1/9
(b) 3, -9
© 3,9

(.d) 3, 3

where ¢ is a constant of integration.
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o1, WM A 5 00, 0,0, PG, 4,5, Qm n 1|95 ok w3 3R b » dao oo o R A

MR, LD F weR oagds & @ " >
PEEL mensromAmamd? -5a 3ﬂ‘<’»6b % S B BT R ?

(a) 6

: (a) Z.

b 12 ©
() 15 ®) 2F

3
(d) 159 it
S ' (c) 3572
92. . 37aHA AHEROT _
3e*tany dx+ (1 +e%)sec?ydy=0 3 '

FEATE ? (d) "’—7-

(@ (L+eMtany=c

: ; 3
B (1+eHtany=c : o6, s W 4F _ 1+(d_y} =0 @

. . 2
(© Q+e2tan y=c¢ ; dxv dx
: ; o T d ?
(d) (1 + e sec® y=c¢
Sl ¢ T WAIGH-3TR ¢ | . - @ 1
93. <1 fogall 4 qRAT F v =R T ot @
feguasng? (©) 3
(a) ¥RE @G o @ 6
) m V | - | 3 3 .
: 97. U szlnxdx=x—lnx+x—+c, ar
(¢) 3faRaaa m . n ,
m 3R n & A HHT w7 E ?
(d) WRaad - .
| @ 1/3, -1/9
94, y?=4a(x—a) % 0 JaHT TGO F®T Y ? " :
: ) 3, -9
(@) yy —2xyy +y?=0 :
®  yy vy .‘+ 2%) + y2 = © 3,9
© vy (yy —2x) + y2=0 : @ 3, 3

@ yy-2xyy+y=0

FET ¢ U B3R ¢ |
Q-OEBA-K-NBU - [ 57 = &)
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98.

99.

What is thg pﬁncipal value of cosec™! (- ~/§ )?
(a) %
®» Z
® -7
(d) 0

If f:R>R g:R>R and gx)=x+3
and (fog)x) = (x + 3)2, then. what is the value
of f{-3) 7 ' - '

(a) -9
(by 0
) 9
(d 3
- 12
100, What is the value of lim x-b ?
' ' x-1 [x-1]
(@ 0
(b) 1 ;
() -1
(d) The limit does not exist

Q-OEBA-K-NBU

' 101. A balloon is pumped at the rate of 4 cm? per;

second. What is the rate at which its surface
area increases when its radius is 4 cm ?

(a) 1 cmz/_sec
(b) "2 cm?/sec
(¢ 3 cm?/sec

(d) 4 cm®/sec

hitps://ww,

102.

103'

|104.

105,

)

"1+tan15°

What is the value of —————_ ?
i 1-tan 15°‘
(a) 1
i
b) -
(b) B
? 1

(c) ="

V3
@ V3

If fix)=kx® - 9x2 +9x'+3 is .monotonically
incréasing in every interval, then which one -
of the following is correct ?

(a)

k<3
k<3
() k>3
(d) .k-vzs

e 1B 112 % - ~
If sin™! 2 4 sin7! 22 o , then what is the. -
X x 2

value of x ?

{a) 1

b 7
S 18
@ 1

If o, B are the roots of the quadratic
équation 32 ~x + 1 =0, then which one
of -the following is. correct ? '
(_a) , (a? - 341 is real
®  2(®+p% = (@p)®

~ (e) (aG-BG) =0

@

(28 -~ A)

(a® + Bs) = (a B)8




98. .cosec“1 (- Jﬁ) Hﬂ'@ﬂ'ﬁm? ?

(a)

ek

(b)

e f:Ro5 R, g:Ro>R 3R gx)=x+3
qar  (fog)x) = (x + 3%, @ f(-3) & A1 &
g ? i
(a)
(b) O
() 9
(dy 3

99.

2
100. lim (?‘_1)
x—1 lX-—ll

DA TRTE ?

(a) O
(b) 1

(¢) -1

(@ I @ aiaw T 2

UF TERT 4 cm® Wi IHU8 BN X | Perrar Sl
2 | 39 59 B 4 em R A 399 TS &G
f?ﬂrai%am%?

'(’a)

101.

1 cm?/sec
(b) 2 cm?%/sec
3 em?/sec

(c)

4 cm?/sec

(d)

Q-OEBA-K-NBU
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102.

103.

104.

105,

{29 - A)

1+ tan 15°

T HAA TR ?
1-tan15° _
(a) 1
1
(b) 5
1
() —
M
@ 3

gfe fix) = kx® — 9%2 + 9x + 3 UAD IHRe d
rhie aefam &, o F=feRad § @ o9 @1 s w8
g7 '

(a) k<3

b) k<3

& Tesd

(d) k=23

15 . -1 12

m
+ SIn =

sin , @ x &I "7 T

(a) 1
(b)y 7
(¢) 13

(dy 17

e fgoa gfeRor x2 —x+1=0 %%a,ﬁ%‘,
A PefRar F Y B e W@ 2

(@ (of-phH areﬂf%aﬁé
(b) 2(ad + B%) = (@ p)®
© @-pH=0

@ (@®+pd=(ap?




106. What is the value of 3 cosec 20° —sec 20° ? |108. If angles A, B, C are in AP, then wflaf is
: : sin A + 2 sin B + sin C equal to ?

(a) 1/4 e
(a) 4 sin B cos® (A_;_g)
(b) 4 :
© 2 (b) " 4 sin B cos? [%) ‘
d 1 ; '
' ¥ 2 (A-C
107. The probability distribution of random . (¢) 4 sin (2B) cos” T)

variable X with two missing probablhtles Py |
and p, is given below :

. (d) 4 sin (2B) cos? ﬂ)

X P(X) s &
1 k
2 Py 109. StatementI: If -1<x<0, then

: cos (sin1x) = — Jl—x2 .
3: 4k
4 P2 . Statement II : If -1<x<0, then
5 2k , , sin (cos™1x) = Jl —x2,

" It is further given that P(X < 2) 025 and '
P(X > 4) = 0-35. | Which one of the following is correct in respect

of the above statements ?

Consider the following statements : ’

1 B E (a) Both statements I and II ~ are

+ P1= Py independently correct and statement II

9. p.+p,=PX=3) : is  the  correct explanation of
L = ; statement I

Which of the statements given above is/are : ) :
(b) Both statements I and II are

» . ? .
SOrHEEE independently correct but statement II
. ; is not the correct explanation of
(a) 1 only . statement I -
(b) 2 only ) L " (¢) Statement I is correct but statement II

is false

(¢) Both 1 and 2 ' _ ' ‘ ;
: (d) Statement I is false but statement II is

{(d) Neither 1 nor 2 " ' correct

Q-OEBA-K-NBU * : (30 - A)
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*J3 cosec 20° - sec 20° B AN R & ? ,

106.
(@) 1/4
b)) 4
@ 2
(dy 1
107. fod urgho® T X @1 Aibwar §o, . B X
a1 wi@ans Py 3R Py 313(1‘\@18 g, g fear mn
g
X P(X)
1 k
N iy
3 4k
4 P2
5 . 2k
. mmﬁﬁﬁuﬁ'ﬁﬁm@néﬁamxg)ﬂ%
@0 P(X > 4) = 0-35.
rfifag soFl R R difswe -
1. p; = Po
2 p;+p2=P(X=3)
FoRfRad et o & B W vl 2 2
"(a) dad 1
(b) &ad 2
() 13k 2=
(@ JTar1skaE2
Q-OEBA-K-NBU
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108.

109.

{31 - A}

&

gk @1 A, B, C TR AR A E A
sinA+2sinB+sinC SIAF TR ?
(a) 4 sin B cos® (A—;C—]

(b) 4 sin B cos® (%)

(c) 4 sin (2B) cos?

(d) 4 sin (2B) cos?

FFI: I -1<x<0, @
cos (sin™! x) = — Jl—x2 -
wll: ae 1<x<0, &

‘sin (cos™! x) = \Il—x2 ;

fraffeaa & & a9 @ ve, uRfeRed wuet &
fagdagr g ?

o 1 AR T W@ # AR
U I, &9 1 D 98 A 8

(a)

), SR w1 3R I wWdaa W& ¢ o

P 11, 3o 18 98 @ a8 &
(¢) @ 198 2 foxg oo I 3/ @

(d) > I13MA ¢ fog oom L9 &




110. StatementI: y = — tan'(x1) + 1 is an.
increasing function of x.

Statement II: d& is positive for all values of x.

Which one of the following is correct in

respect of the above statements ? -

(a) Both statements I and II  are
independently correct and statement II
is the correct explanation of
statement I *

(b) Both statements 1 and II are|
independently correct but statement II
is not the correct explanation of
statement I

(cj lStatemenL I is correct but statement II'|.
is false :

‘ (d) Statement 1 is false but statement II is

» correct

111. Consider the fo-llowing statements in

respect of circles x* + y% — 2x - 2y = 0

and x% + y% = 1 :

1.  The radius of the first circle is twice that
of the second circle.

2.  Both the circles pass through the origin;

Which of the sLatements gwen above is/are

correct ?

(a) 1 only

(b) 2 only

(¢} Both 1 and 2

(d) Neither 1 nor 2

Q-OEBA-K-NBU

112.

113.

114,

{32 -A)

(@

Let.a, b, ¢ be in AP. o

Consider the following statements :

1 1

— arein AP.
ab

ca’ bc

1 1

2. 5 : in AP.
bt Jeiva arem

1
N

Which of the statements glven above is/are
correct ?

1 only
(b) 2 only
(c) Both 1 and 2
(d) | Neither 1 nor 2 "

What is the differentiation of | ogxx w1th
respect to In x ?

(a) 0
(b 1

() 1/x°

@ x

What is tan (7% ) equal to ?

(a) J§+_\/_~\/§+2‘
b) - /8 + 43 +2 +2
© J6 -J3 +J2 -2
@ V6 + V3 +J2 -2

hitps://ww,




110, @&FI: y=-tantxD+1, x @I Uh adHr

BeH ¢ |
A xasw?ltrm"ras%rz 91 TS & |

frefifed # @ a9 @ s, ﬁ%ﬁﬁﬁm%

fowa § W & 2

w1 3R II.zaa'aa':.ﬂé’réam

(a)
' B 11, BU 1 3 a9 e #

(b)
mll,mlﬁv—amqﬁ%
T 1w & Foeg oo 11 i &

(c)

d) @ 13ed & g & 11 9 ¢

'lil.qﬁx+y -2x -2y = Oaﬁ“\’x-a-y-léﬁ

fowa # Frafofes sl w R dife -

1. m?ﬁa%ﬁmqﬂiqﬁa%ﬁwa%gﬁ
g !

4 ﬁﬁ&ﬁ%ﬁé’pﬂ?f%l_

éﬁﬁ%ﬁamﬁﬁéﬁwwmﬂ'&%ﬁs‘?
| &aer 1

Fad 2

1 3k 2 At

(@ "Tar1skade

Q-OEBA-K-NBU

M w1 8k II?EF'IHH‘:HE&%‘%@.

113,

112. ¥ IS 5 a, b, ¢ FHFR 00 4 € |

mmwﬁmﬂm
L e 1 lmmirc’hﬁ%l
ab :
5 1 1 1
© Jb+Je’ Je+dal Jarb.

AR Soft 6§ |
RfoRem e 4 4 a2
a) ﬁal
(b) &adT 2
© 13ﬁ-<.'2aﬁ=ﬁ

(d) Far13iRaIS2

Inx & AN log, x P HaDH T & ?

114, tan.(7—;— ) BEHATIE ?

@ J6 +J3 -2 +2

() V6 + V3 +J2 +2

@ V6 -3 +42 -2

D J6 + V3 + 2 ~2

'(33—-A)




What is the value of <22 15" + 0545

115, 2 = ? 118.
.cos” 15° + cos® 45°
1
1
(b) 2
1
(c) g
(d) None of the above
Directions : For the next 3 (three) questions to
follow : 119.
The vertices of a cube are (0, 0, 0), (2, 0, 0),
0, 2, 0), (0,0, 2), 2,2,0),(20,2),0, 2, 2),
(2, 2, 2) respectively. -
116. ' What is the angle between any two diagonals
of the cube ?
(@) cost(1/2)
" (b) cos™t (1/3)
(¢ cos™l(1/V3)
@ cost(2/V3)
RO . 1120,
117. What is the angle between one of the edges of
the cube and the diagonal of the cube
intersecting the edge of the cube ? '
(a) cos!(1/2)
(b) cos! (1/3)
(¢ cosI (1/43)
 q |
(@) cos™ (2/43)
Q-OEBA-K-NBU

({34 - A)

{e)

‘What is the value of

What is the angle between the diagonal of
one of the faces of the cube and the
diagonal of the cube intersecting the

-diagonal of the face of the cube ?

(@) cos™! (1.)\6)
(b) cost(2/V3)

cos™> (\/2/_3)
(@ cosI (V2/3)

s .
Let 2 and b be two unit vectors and o be

the angle between them. If ( ; + T;) is also
the unit vector, then what is the value of a ?

(a) g
‘ (c)_' %ﬂ
() g

(0200572 + (012

. ?
- 010052 (00102 + (0o1n{2

(10)2

(0101),

(a) (0-001),

(b  (0-01),
() (01
@ (1),

g hitps://ww,




115.

(o)

. cos 15° + cos 45°

3 3 H AT FTE ?
cos” 15° + cos® 45° .

1.
(a) 7

1
(b) =
1

@ RRfem ¥ ¥ B 7@

e + s 3 () et o o

116.

f&=h g7 & 99 ®mer (0, 0, 0), (2, 0, 0), (0, 2, 0),
(0,0,2),(2,2,0),(2,0,2),(0,2,2),(2,2, 28 |

o 3 Rl & Reoit & i o or an & 2

118.

119.

(a)

b)

(c)

C ()

117.

Q-OEBA-K-NBU

LT B TR0 Yo 3R o9 & 45 B B I v %

(a)

" (b)

(c)

(@)

cos™t (1/2)
cos™* (1 /3)
cos™! (1/4/3)

cos™ (2/\/5) -

cos™! (1/2)
cos ! (1/3)
cos~! (1/\/5)

cos™! (2/J§ )

(35 - A)

hitps://ww

120.

T & om e & Rt v & wred 3 oo
B B G U9 &b fawot & da & oo g & ?

(@) cos™!(1/V3)
cos™! (2/43)

cos~! (v2/3)

(b)
(c)

(d) COS_1 (\/5/3)

R & A o BT T T R 2

(a) 1; |
(b) %
(e %"
(@) 1;.
010152 + (001D} "2
(01005%2 - 0100572 01DT2 + (01152

& A TR ?

(a) (0-001),

(b) (0-01),
() (01),

@ M),
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SPACE FOR ROUGH WORK
T W & e s

(36 - A)




.SPACE FOR ROUGH WORK
FAFTHS RETE
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SPACE FOR ROUGH WORK

(38 - A} ‘




. SPACE FOR ROUGH WORK
o=l M & fere s

Q-OEBA-K-NBU {39 - A}
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© g fore 8 | oeT iRee R sk gu T ford |

4. 5w wem e F 120 swie (v Re e # | s e R ik sieh | s ¥ | i wew &
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9. T oW ¥ T T weT gRaET 6 o H e © |

" 10, et 369 & R @vs - S

aegirs wea-ust # Iefiar g1 e e wert SRi & fore qus fean sme |

&) T v B R OR dehes TR # | iR R ws wed & o Re e ve o 3w & fore
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Note : English version of the instructions is printed on the front cover of this Booklet.




